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Chapter 2, p. 38, question 2.96: The case should read as follows: 

A 59-year-old patient with past medical history of chronic heart failure, hypertension, and 
hypertriglyceridemia is suffering from cervical disc herniation at C2–C3 and C4–C5. The surgeon 
decided to perform arthrodesis using an interbody technique. Then the patient was brought to the OR 
after general anesthesia and standard preparation. The physician performed anterior arthrodesis with 
morselized iliac bone graft harvested through a separate incision, and anterior instrumentation (C2–C5) 
was done. How should these services be reported? 
 


